BHET) 5654 Bk @i

KL RY Ak

Lo Y
(5°6$i BUOEH: @S

.

BAIE/NITS

| kil | ha @ 100 &
ki DBAIE ha IZEENZBLFIE,
X100 FHnidLwv

| Iki=100ha |

HUEKRETS

ha OBEfIE ki ICEENZBLFL,
X 0.0l FflE, + 100 THULLN

[ | ha=0.01 km ]ilhotd:lkrﬁ@lOOé}o)l

® 430ha= ( 4.3 ) kn
430(ha)X0.01=4.3 ki 430 kni(ha)+100=4.3 km

@ 8400ha= ( 84 ) kn
8400(ha)xX0.01=84 ki 8400 km(ha)=+100=84 km

® 650000ha= ( 6500 ) ki
650000(ha)x0.0 1 =6500 ki

650000(ha)= | 00=6500 kif

@ 20.8ki= ( 2080 ) ha
20.8(kn)x 100=2080 ha

® 0.76 ki= ( 76 ) ha
0.76(km)X 100=76 ha

® 350ki= ( 35000 ) ha
350(kit) X | 00=35000 ha
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B E/3<T 5

{

| ha= 10000 i ] lha i1 M@ 10000 4&

ha OBfIE nf ICBE0 2B %IL,
X 10000 ¥iLL
B KETS

| i=0.0001 ha ] I iz 1ha @ 10000 90 |

m OBM% ha IBEH) 2B >,
X 0.0001 F7=l%., =+ 10000 FHUSLN

30900 m= ( 3.09 ) ha
30900(m)X0.0001=3.0%ha

30900(m)~+10000=3.09 ha

600 m= ( 0.06 ) ha
600(m)X0.0001=0.06ha 600(m)-=+10000=0.06 ha

l6ha= ( 160000 ) nf
| 6(ha)x | 0000= 1 60000 n

0.718ha= ( 7180 ) m
0.718(ha)X 10000=7180 m

12



B e/ 5

[

| ki=10000a |

BAIERE<TS

| a=0.0001 ki |

| knild 1ao 10000 &
ki OBAI%E a IBEHNZBLEIL,
X 10000 ¥ L\

lald | kiiod 10000 40 |
a OBMI% kit ICBEE0Z2BL%IL,
X 0.0001 F7=1%., + 10000 FHULLN

2084000 = ( 20.84 ) km
208400(0)x0.000 1 =20.84 kn

208400(a)+ 10000=20.84 kn

35a= ( 0.0035 ) ki
35(a)x0.000 | =0.0035 ki

35(a)+10000=0.0035 kn

7.61 ki= ( 76100 ) a
7.6 | (kif)X 10000=76 | 00a

957 kfi= ( 9570000 ) a
957 (kif)x 1 0000=9570000a
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